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20168 & =04 LEHSIH nESHF
A REWEDY
A Hsus g4 XA
S Hsns #4dst (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
wEHFH M 21,892,120 15,425,871 6,466,249
Xl 70,000
< 166,000
Al 21,656,120
sws =4 XN& 14,211,410 13,705,635 505,775
Xl 70,000
< 166,000
Al 13,975,410
sns g4t 12,767,000 12,032,645 734,355
= 16,000
Al 12,751,000
MEEXSI HE X 2,500,000 2,500,000 0
307 21201 A 2,500,000 2,500,000 0
09 2+=HAHEBEXS 2,500,000 2,500,000 0
OAMUHA THHEXF(REIIE 20, &5)
2,500,000, 0002 14! 2,500,000
HAZ2SAME WEXS 400,000 700,000 A 300,000
307 glz2+ol & 400,000 700,000 A 300,000
09 2+=HAHEEXS 400,000 700,000 A 300,000
OHA2SAMY MBI 400,000,000 =14 400,000
MNHEISI RIEES X 9,700,000 7,300,000 2,400,000
307 21201 A 9,700,000 7,300,000 2,400,000
09 2+=HAHEBEXS 9,700,000 7,300,000 2,400,000
OANLEXNSI RIIEZS N (HA AL
£) 9,700,000, 000& » 14 9,700,000
SR 2AEAZ3 N2 135,000 135,000 0
307 21201 A 135,000 135,000 0
09 2+=HAHEEXS 135,000 135,000 0
HALd =4243 135,000, 000& * 14 135,000
SIUEAl 2 XA 32,000 0 32,000
< 16,000
Al 16,000
301 LAz 32,000 0 32,000
< 16,000
Al 16,000
1MIIEELSS 32,000 0 32,000
O3|LEA 2EXA 32,000,000 » 14l 32,000
< 16,000
Al 16,000
s HEAIY &= 1,444,410 1,672,990 A 228,580
X 70,000
< 150,000
Al 1,224,410




2A NS
A Hsus g4 XA
oel: DS SFAL BB CER-ED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
ogloletdgadgoloe= 60,000 169,210 A 109,210
X 30,000
Al 30,000
401 Al Bl 28I 60,000 169,210 A~ 109,210
Xl 30,000
Al 30,000
01 A& Bl 60,000 168,000 108,000
OolglojetdgadLelmet 3R
60,000,000& =14 60,000
Xl 30,000
Al 30,000
Xhd &= A4 1,004,410 1,503,780 A 499,370
401 AIEHIZ 28I 1,004,410 1,503,780 A 499,370
01 A& Hl 1,000,000 1,500,000 A 500,000
O T2 Xt &M (L=220Km)
1,000,000, 0003 14 1,000,000
03 Al 2 THHI 4,410 3,780 630
OAIE =TI 4,410,000 =14 4,410
nEMIRESR MM 80,000 0 80,000
Xl 40,000
Al 40,000
401 Al& Bl & 28I 80,000 0 80,000
X 40,000
Al 40,000
01 A& HI 80,000 0 80,000
OunsSAtnzSR HA 80,000,000 =14l 80,000
Xl 40,000
Al 40,000
HEll2s7Y nNsSHAEAd dXAY 100,000 0 100,000
< 50,000
Al 50,000
401 AIEHI L 2 CHYI 100,000 0 100,000
= 50,000
Al 50,000
01 A& HI 100,000 0 100,000
Oelol2s7Y nstdEAlE XA
100,000, 000& 14 100,000
< 50,000
Al 50,000
EtEE xS 4X 200,000 0 200,000
< 100,000
Al 100,000
401 Al B2 28I 200,000 0 200,000
< 100,000
Al 100,000




- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
01 Al&H| 200,000 0 200,000
Ot XHs A1 200,000,000 1Al 200,000
= 100,000
Al 100,000
St2 =S AH 22 40,000 40,000 0
AFE2s A& 40,000 40,000 0
FBe =AEN X 40,000 40,000 0
307 2iz2to| A 40,000 40,000 0
09 2LHHEXZ 40,000 40,000 0
OfFZ2& =ABMAZ 40,000,000 =14l 40,000
HEestsS(WSHE ) 7,531,525 1,578,434 5,953,091
WEAHA XK= 1,305,333 1,194,434 110,899
WEMHHXS(REHA ) 1,305,333 1,194,434 110,899
701 JIEIS HSEE2 1,305,333 1,194,434 110,899
01 JIEIS HE =2 1,305,333 1,194,434 110,899
ONEMIEEIH &2
1,305,333,000& =14l 1,305,333
RS DNES 6,226,192 384,000 5,842,192
Xl EfTH &b &t 6,226,192 384,000 5,842,192
311 X 20| AHAH &t 226,192 384,000 A 157,808
01 Al - 2« PASEML I 2XL 20| XHAHE 226,192 384,000 A 157,808
ONsEdBHH & NHSSAMEA HEY O XtHat
st 3,600,000,000& *4/100 144,000
OUESSIHAH &3 DL AAIE O XFakEH
82,192,000 x 14! 82,192
601 X 234 & 6,000,000 0 6,000,000
01 Al -2« PASENLIZSXNLSIAS A E 6,000,000 0 6,000,000
OURESIHAH HAF DL AIAY
6,000,000,000& » 1Al 6,000,000
HHSAAY (WEHA DY) 109,185 101,802 7,383
olad 2 A Y| 109,185 101,802 7,383
QlE=2Ab(NEHF ) 109, 185 101,802 7,383
101 2121 4| 109, 185 101,802 7,383
01 = 106,385 99, 123 7,262
OAZ2tZ224E 9,3323 x38021 *300A| 2+ 106,385
02 JIEHR &2 %= 2,800 2,679 121
OAZt224% 9,3322 x121%x300A| 2+ 2,800




